
09/04/03 
U:\Judy\INSTRUCTIONS CURRENT\INSTR LIFT ACCESSORIES\A21 INSTR SPINNER KNOB ADD ON.doc 

 
SPINNER KNOB ASSEMBLY  # 4504 

 
*Thank you for purchasing our product.* 

*Please read and follow these directions step by step.* 
 
Step 1. Place the spinner knob (REF. # 1) on a lift wheel spoke. Place the backing plate  (REF # 2) 
on the back of the spoke. 
 
Step 2. Insert a bolt  (REF. # 3) through one side adding a stabilizer finger  (REF. # 4) to the 
backside. Finger tighten. 
 
Step 3. Repeat procedure on other end. Tighten both nuts. Spinner knob is now ready to use. 
 
 REF. # PART # DESCRIPTION QTY 
 1 4515 SPINNER KNOB 1 
 2 5107 BACKER PLATE 1  
 3 5151 1/4”X 1” BOLT 2 
 4 5106 STABILIZER FINGER 2 
 5 5055 1/4” NUT 2 
 6 5110 7/16” X 2” BOLT 1 
 7 5105 SPINNER KNOB PLATE 1 
        8             5070           3/8” WASHER        1  

 

 
 
 

6 – 51  



 
Porta-Dock, Inc. 

 


